
SAP ABAP table BAPIP0001T {HR Master Record: Infotype 0001 (Org. Assignment)}

BAPIP0001T

INFTY [CHAR (4)]

PREAS [CHAR (2)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

VDSK1 [CHAR (14)]

GSBER [CHAR (4)]

BTRTL [CHAR (4)]

ABKRS [CHAR (2)]

ANSVH [CHAR (2)]

KOSTL [CHAR (10)]

ORGEH [NUMC (8)]

PLANS [NUMC (8)]

STELL [NUMC (8)]

OTYPE [CHAR (2)]

KOKRS [CHAR (4)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 BAPIP0001T-KOSTL = CSKS-KOSTL 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 BAPIP0001T-BUKRS = T001-BUKRS 
0..N

0..N

T001P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

BTRTL [CHAR (4)]

 BAPIP0001T-BTRTL = T001P-BTRTL 
0..N

0..N

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]

 BAPIP0001T-WERKS = T500P-PERSA 
0..N

0..N

T501

MANDT [CLNT (3)]

PERSG [CHAR (1)]

 BAPIP0001T-PERSG = T501-PERSG 
0..N

0..N

T503K

MANDT [CLNT (3)]

PERSK [CHAR (2)]

 BAPIP0001T-PERSK = T503K-PERSK 
0..N

0..N

T513

MANDT [CLNT (3)]

STELL [NUMC (8)]

ENDDA [DATS (8)]
 BAPIP0001T-STELL = T513-STELL 0..N

0..N

T527O

MANDT [CLNT (3)]

HIRAR [CHAR (1)]

ORGKY [CHAR (14)]
 BAPIP0001T-VDSK1 = T527O-ORGKY 0..N

0..N

T527X

MANDT [CLNT (3)]

SPRSL [LANG (1)]

ORGEH [NUMC (8)]

ENDDA [DATS (8)]

 BAPIP0001T-ORGEH = T527X-ORGEH 
0..N0..N

T528B

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

PLANS [NUMC (8)]

ENDDA [DATS (8)]

 BAPIP0001T-PLANS = T528B-PLANS 

0..N

0..N

T530E

MANDT [CLNT (3)]

INFTY [CHAR (4)]

PREAS [CHAR (2)]

 BAPIP0001T-PREAS = T530E-PREAS 

0..N

0..N

T542A

MANDT [CLNT (3)]

MOLGA [CHAR (2)]

ANSVH [CHAR (2)]

 BAPIP0001T-ANSVH = T542A-ANSVH 

0..N

0..N

T549A

MANDT [CLNT (3)]

ABKRS [CHAR (2)]

 BAPIP0001T-ABKRS = T549A-ABKRS 

0..N

0..N

T582A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 BAPIP0001T-INFTY = T582A-INFTY 

0..N

0..N

T778O

MANDT [CLNT (3)]

OTYPE [CHAR (2)]

 BAPIP0001T-OTYPE = T778O-OTYPE 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 BAPIP0001T-GSBER = TGSB-GSBER 

0..N

0..N

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 BAPIP0001T-KOKRS = TKA01-KOKRS 

0..N

0..N


